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—=Zx":1+x+x2+ ...... +x"
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o0 2n+1

A 2. ;kz"Zn 970 5 3

R 1) kg

1 . 2n
a, =— p:hm = lim =1
2n el g, now Qp + 2
1 N y,
SR=—==1, W&XE N (-1,

N

sx--w, YO g,

% x =18, Z K, ME&EEA (1)

n=1 I’l

0 2n+1

2) 4s(x)=zx2n

S AR B AFERSAARY, R

2
/ES(X): 0 xn

SoX s ARER

{s%c)} =Zx Z Z( 7| B R, HEEAFHAR
:x(1+x2+x4+---(xz)"+---)=—(M<1)

BAE D[ (- )

W%s(x):—gln(l—x ), (-l<x<l)

i 0 n+l
%5 14.3: %>
! %: X;I’Z'FI

%3 14. 4 ﬂtin(x—l)"*frn%é&

| = 2041
T 145 kY D w
: n=0

2n+1

(®oR: s(x)= z (2n+1)x" :>S( ) = Z
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3. mEAFMET (BHREEREE)
Bl f(x)=—— BTFR(x—1) B EBH

x*+3x+2

f(x): 1 _ 1 _ 1 1 _ 1 1
X +3x+2 (x+1)(x+2) x+1 x+2 2+(x—1) 3+(x—1)

b1 b1 L oS 1y a” = 1o (1" +
L N S P D N e (1) X" e
2 1_|_(x—1) 3 1+(x—l) l+x =
2
e e 1e et Go)
_EZ_:;(_I) (Tj —5;(—1) (3—) 5 e(-L,)=>xe(-1,3)
(x-1)

| | . e(-L1) = xe(-2,4)
T (1 S )
S (e xe(=1,3)

—~ 2+1 3n+1 )

e

5T 14.6: B f(x)= BT R -2 B BK

’
X +x=2
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